	PHY 105

Test 1
	Name: ____________________

May 24, 2001


Show your work.  Provide your reasoning.  Say what you would do to solve a given part even if you do not have all the necessary information.  Draw diagrams!  Don’t forget units! 

	Some equations
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1. A 2000-kg plane lands on an aircraft carrier. It has just 75 m to stop.  If its initial speed is 240 km/hr,

a. What is the plane’s acceleration during landing?  (Assume the acceleration is constant.) 

b. How long does it take for the plane to stop?

c. What force must be applied to the plane to stop it?

2. A ball leaves the floor with a velocity of 20 m/s and an angle of 30(.  There is a wall 30.0 m away.  Does the ball first bounce off the wall or off the floor?  Show your calculations and give your reasoning.  What angle does it hit whichever surface it bounces off?   Draw it and calculate it.






3. The 20-kg mass shown below is pushed up the 30( incline at a constant velocity of 1.2 m/s.  The force is applied parallel to the incline.  The length of the incline is 2.00 m. 

a. What is the acceleration?

b. How long does it take to traverse the incline? 

c. What is the applied force? 






4. In the figure shown below, the pulleys are frictionless and the weights are in equilibrium.  If the mass of M1 is 15 kg, find the masses of the other two objects M2 and M3 as well as the tensions in the ropes Ta and Tb. 
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